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5 BEHRE (Efi:[)
B% HE &8 A%
FEYImEE 933,120\ £ E 21 440K  @648M /K
FRUNEE
Bl EYITsE 0
it(A) 933,120
" k240,000 (@150 /kg X 100kg X 16 T2)
RMHE 288,000 | s 4,000 3 (@3,000F x 16 T12)
. 1A%7-Y@86.2M x 1,440% WIR:#i(@55[), E(@150 ),
ARANR 124,128 FKrv-b(@4.20), 97 Y-I (@6M)
KE2E 0| AEIERF B THAT-H0H
KEE 0| A £ IERF B THAT-H0H
RERME |@useies 0| A £ HEERFIATHBT-6H0M
= HaE 1H2T T, 4\ x THHfE x 738 =20,664MH
ER%A 169.312)91 664 x 8= 165,312
RTENE 0| AEHERF A THAT-H0H
) HERE 5,305(RIRIDERY (EXE. BT, RHIT10%D A5 L)
ﬁ MIMEERFIAE 121,040[t'1-1/8%g X 16 T3 x @85/ 1kg41-Y
i INET(B) 703,845
HFrEME 0| ERADREIZEF-VORDA>TW-2DEFETS
) BNV R @144 x 1.5 % 16=3456M, EEF E£738M 1
BRc#E 154,944/ 518 x 16=11,808M., AR5EF5¥H15%@97M X 14404~139,680
A
LEERE O|F£EBICKUNBYDELHA-ORIELLHL
ﬁﬁf}éﬁﬁﬁ% EHHEE 60008k SIS (4 EF L35M/F X 2A X 10%)
. HHaES 175|BREEHE AR S 28 10500/, /64 X 10%)
XiLRIEH 200| B E EEEE £ %2,000 x 10%
O BT REFHH (17,600, 6E=2567M), BRELEER
ERHARAER 26%9) 24 m o (3,600, 5% x 104=729) "
INEH(C) 163,958
“WEMAED)=(B)+(C) 867,803
RiEHEE R1E% (B x 1,3001) (E) 0
F#=(A)—(D)—(E) 65,317




6 EERME

#EMTEROBERDEE THA-HBRH LT

#a4 BEn-iE ¥ | B | £F |6ReX £EHE
KGR T3 | REE, 100ke/ Bl 1| 11070000 107000 10] 110,700
74=yYr— |=H8200V, 300ke/ il | 11500000 11500000 0] 115000
FiEix5E B0 1| 660000 660000 10| 66000
BEE 1| 3500000 350000 10] 35000
kS 21041800 % 600 X 800 1| 1250000 1250000 0] 12500
[t 3,392,000 339,200
BRMIEROERTHI-OEETLHT)

#a 4 BEn-iE ¥ | B | oF |sRey £YVER
K70ty 5820 il 760000 76000 10 7600
fExa 1800 % 900 X 800 f| 970000 97000 10 9,700
1’799 1200 X 600 X 1800 f| 570000 570000 10 5,700
aff 50kg 1| 80000[ 80000 10 8,000
LEERE f| 170000 170000 10 1700
BER TIR, 0~53% 1| 230000 23000 10 2,300
NyRe=4— AR REsIm 1| 239000 239000 10 2390
ATUVAZS  [50cm 50 63000 315000 10 3,150
ATYVAR=) [30cm 3 14800  4440] 10 444
AFULANRY (15 50 60200 30100 10 3010
iHER 2kg, TV4)) 1| 45000 4500 10 450
iHEhy7 ATVLA Y | 23000 23000 10 20
itEhy7 200m| i 600 600f 10 60
Aol X f| 4000 4000 5 800
ALl { 500 5000 5 100
Ledc L0 2 700 14000 5 280
=i 126,240 45,914
BRRUERRBR1)

. s = T LIRS
£33 L& R4 11 26000 182000 2 9,100 910
iEF 347 1 13000 9100 2 4550 155
ot H. ittt 11 20000 140000 2 7000 700
EF 1248 1 500 5000 2 250 250
Mahtryd  BEVET I00BA 1| 1500 15000 | 1500 1500
YRY 50AY 2 350 700 1 700 700
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